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Cluster: 0084 ptr; resid: 0.29; r/c: 29/66

x.range

upstream meme PSSM #1; e=46

1 3 5 7 9 111 3 5 7 9

x.range

y.
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upstream meme PSSM #2; e=59

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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16140
31109

20757

33017

15980

16322

22819

24119

3069036103

36362

38227

40199

41515

43786

44056

44202
45339

45724

48328

48875

48921

49154

49639

49850

50705

55046

7626

8324

string −500 −400 −300 −200 −100 −1
49154−0.05
38227−0.19
36362−0.23
55046−0.33
44202−0.37
48328−0.73
33017−0.88
16140−1.00
45724−1.11

7626−1.16
36103−1.20
22819−1.29
49850−1.38
44056−1.39
45339−1.42
49639−1.46
43786−1.69
15980−1.71
31109−1.76
40199−1.86
30690−1.92
20757−2.11
48921−2.50

8324−2.60
48875−2.92
24119−4.97
50705−5.08
16322−7.10
41515−8.52

log10(P) upstream meme1 2 log10(P.clust)=−2.03; 29 seqs; 29 uniq
c(0.5, 2.5)
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